Squiggles TT

Spare Parts Catalogue

Supporting
Children



Squiggles TT Spare Parts - Covers

Pos. Leckey Sales Description Colour Options
Code

(Replace XX with colour) Red Vinyl
4 | 184-1820-XX | Knee Support [Pair] -02 -04 -09 -09VIN
4 | 184-2810-XX | Knee Support Size 2 (Pair)
5 | 188-1851-05 | Lateral - Black [Pair] - - - -
6 | 188-1850-XX | Horizontal Support -02 -04 -09 -09VIN
7 188-1852-XX | Upper Wrap Support -02 -04 -09 -09VIN
8 | 188-1853-XX | Lower Wrap Support -02 -04 -09 -09VIN
9 | 188-1854-05 | Padded Tray Cover - Black - - - -
10 | 184-1838-XX | Spine Cap Cover -02 -04 -09 -09VIN
11 | 188-703 Uphoilstery Bolt Pack [2 Pairs] - - - -




Squiggles TT Spare Parts - Handlebar

Leckey Sales
Code

1 184-621
2 SF53
3 SF95
4 118-154

Description

Push Handle Assembly
Round Tube Insert [Single]
Adjustable Handle

Extrusion Outer Cap



Squiggles TT Spare Parts - Outer Spine

Leckey Sales Description
Code

1 118-154 Extrusion Outer Cap

2 184-610 Outer Spine Assembly

3



Squiggles TT Spare Parts - Inner Spine

Leckey Sales
Code

Description

1 184-611
2 184-712
3 118-166

Inner Spine Assembly

Head Support Clamp Assembly SQ+

Head Support Collar



Squiggles TT Spare Parts - Head Support Spine

Leckey Sales
Code

Description

1 188-603
2 184-712
3 118-166

Horizontal Support Spine Assembly

Head Support Clamp Assembly SQ+

Head Support Collar



Squiggles TT Spare Parts - Horizontal Support and Orb

e
| 2 =gl J
‘o @) Y

P =
A1
~OU
9 A

Leckey Sales Description
Code

1 188-604 Horizontal Support Assembly
2 118-680 Orb Assembly

3 188-712 Lateral Assembly - LH [Single]
4 188-713 Lateral Assembly - RH [Single]




Squiggles TT Spare Parts - Upper Support and Orb

N o o0 A NN

Leckey Sales
Code

188-615
118-680
188-703
188-607
188-606
188-740
188-049

Description

Upper Support Assembly
Orb Assembly

Uphoilstery Bolt Pack [2 pairs]
Lateral Assembly - LH [Single]
Lateral Assembly - RH [Single]
Lock and Buckle [Pair]

SQTT Side Lateral [Pair]

7



Squiggles TT Spare Parts - Lower Support and Orb

Pl /il
.,-*";' "- el ' ;\ S :l‘ “I:h':‘? M -
2 b > | W 1.4
) ' > M
e r ' L1 [l ID
' ol Y “,{}“ﬂ =
’ = A Sl V)

jﬁf ';:‘;“___‘d? 8
= >

Leckey Sales Description
Code

1 188-616 Lower Support Assembly

2 184-660 Orb Assembly

3 188-703 Upholstery Bolt Pack [2 Pairs]
4 188-607 Lateral Assembly - LH [Single]
5 188-606 Lateral Assembly - RH [Single]
6 188-740 Lock and Buckle [Pair]

7 188-049 SQTT Side Lateral [Pair]




Squiggles TT Spare Parts - Knee Support

Leckey Sales Description
Code

1 184-613-LHS Knee Block Assembly Left

2 184-613-RHS Knee Block Assembly Right



Squiggles TT Spare Parts - Footrest

Leckey Sales Description
Code

1 184-692 Calf Inner Support Assembly RH

2 184-693 Calf Inner Support Assembly LH

3 184-654 Calf Outer Support Assembly RH

4 184-655 Calf Outer Support Assembly LH

5 117-156 Footplate Rubber Matting (One Piece Only)

10



Squiggles TT Spare Parts - Pivot Chassis

Leckey Sales
Code

188-764
184-715
184-716
184-625
188-717
18-713
IA19

Description

Pivot Chassis

Castor Assembly - Front [Pair]
Castor Assembly - Rear [Pair]
Pedal Assembly

Gas Spring Assembly

Pivot Interface Assembly

Pull Pin [Single]



Squiggles TT Spare Parts - Angle Limit Adjuster

Leckey Sales Description

Code

1 188-625 Angle Adjustment Limiter

12



Squiggles TT Spare Parts - Perturbation Rocker

10

Leckey Sales
Code

188-630

188-645

188-735

188-745

188-741

188-742

188-737

188-738

188-756

188-757

Description

Full Perturbation Rocker Assembly

Crossbar

Chassis Clamp LH

Chassis Clamp RH

Perturbation Leg LH

Perturbation Leg RH

Perturbation Mechanism LH with Cover

Perturbation Mechanism RH with Cover

Mechanism Cover LH

Mechanism Cover RH

13



Squiggles TT Spare Parts - Tray

0 -

/.‘-_5
e b
\ T &2
.
P : 5";
—e, & !
— - - + / i1 -

; Bt e

Leckey Sales Description
Code

1 118-619 Tray Assembly
2a 118-710 Tray Depth Adjustment Assembly LH
2b 118-618 Tray Depth Adjustment Assembly RH
3 SF51 Round Tube Insert [Single]
4 117-769 Tray Grab Rail
5 118-646 Tray Grab Rail Height Adjuster [Single]
6 SF48 Locking Key M6 [Single]
7 SI09 M6 Washer [Single]
8 SF52 3/4" Round Tube Insert [Single]
9 SF53 7/8" Round Tube Insert [Single]
10 188-1854-05 Squiggles TT Padded Tray Cover - Black

14



Squiggles TT Spare Parts - Tray Support

Leckey Sales
Code

1 118-660
2 184-689
3 SF48

Description

Orb Assembly
Tray Horn Assembly

Locking Key (M6x16) [Single]

15



LS835-01

Leckey
19¢ Ballinderry Road

Lisburn BT28 2SA (+44) 28 9260 0750
Northern Ireland hello@leckey.com
leckey.com Yy

C€



